

Converting Celsius to Fahrenheit (I)

Estimate or convert the temperatures.

$-17\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$-91\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$-84\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$-70\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$-96\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$63\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$57\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$27\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$81\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$64\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$81\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$32\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$-26\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$73\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$-41\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$-27\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$-47\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$-91\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$-52\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$22\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$2\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$55\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$30\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$84\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$-51\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$69\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$54\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$97\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$12\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$

$-86\text{ }^{\circ}\text{C} = \text{ ____ }^{\circ}\text{F}$